

TOWN OF BERLIN, CONNECTICUT

ATTACHMENT A: PROPOSAL FORM

BACKUP CONTRACTORS

for Routine Repairs, Emergency Repairs, and Minor Construction of the Water and Sewer Systems #2025-08

PRO	POSER'S FULL LEGAL NAME: A	1A Sewar	& Wiler	Services
withou a cont accord	ant to and in full compliance with the RFP, the it collusion and all responses are true and accractual obligation to provide services at fees stance with all instructions, conditions, requirer are made part of this proposal.	curate. If awarded this specified in this Propo	s proposal, it is ag osal Form, subject	reed this forms to and in
Prici	ng:			
	et complete attached line-item bid sp es from each column below.	preadsheet and	enter total pro	posal
A.	Routine Repairs and Minor Const	ruction Total:	\$ 45,500.	<i>0</i> • /hr
В.	Emergency Repairs Total:		\$ 49,300.	<u> </u>
C.	Emergency Repairs Overtime Total	al:	\$ 76,756.	/hr
office the pi	E: This document, in order to be considered or or owner of the business entity that is sure oposer's representations that is has read sion of each document compromising the	ubmitting the propo , understood and fu	sal. Such signate ally accepted eac	ure constitutes ch and every
		Name and Title of Signature of Rep	of Authorized R	
		12/4/2	4024	
		(412) 749	7-0390	Date

Phone # and Fax #

Town of Berlin Water Control Commission

(Bid Sheet For)

Emergency Repairs & Minor Construction

Contractor

AA SEVER & WATER SERVICES

Bid No:

2025-08

January 1, 2025 to

Period:

December 31, 2026

				Α				В				С	n	D A+B+
			Routi	ne Repairs	S		Emerge	ency Repa	irs		Emerge	ency Repai	rs	С
		A	and Mind	r Constru	ction				314			ime Hours		Total
				Unit				Unit				Unit		
		Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total	
1	Superintendent	40	Hr	105	4200	40	Hr	125	5,000	40	Hr	165	6,600	15,800
2	Labor	160	Hr	50	8.000	160	Hr	60	9,600	160	Hr	100	16,000	33,600
3	Backhoe & Operator (0 to 3/8 YD)	20	Hr	140	2800	20	Hr	150	3,000	20	Hr	225	4,500	10,300
4	Backhoe & Operator (5/8 to 1/2 YD)	20	Hr	150	3 000	20	Hr	160	3,200	20	Hr	235	4.700	10,900
5	Backhoe & Operator (3/4 & Larger)	20	Hr	160	7,200	20	Hr	170	7,400	20	Hr	245	4.900	11.500
6	Loader & Operator (0 to 2 YD)	20	Hr	125	2,500	20	Hr	125	2 500	20	Hr	175	3,500	8,500
7	Loader & Operator (2YD& Larger)	20	Hr	125	2,500	20	Hr	125	2500	20	Hr	175	3,500	8,500
8	Truck & Operator (6 Wheel)	80	Hr	100	8000	80	Hr	110	8800	80	Hr	190	15,200	31,20
9	Truck & Operator (10 Wheel)	80	Hr	100	8,000	80	Hr	100	8000	80	Hr	175	14,000	30,000
10	Truck & Operator (Trailer Truck)	10	Hr	100	1.000	10	Hr	100	1,000	10	Hr	155	1550	3,550
11	Pickup Truck	40	Hr	35	1:400	40	Hr	35	1400	40	Hr	35	1,400	4,200
12	Compressor & Hose (0 to 150cm)	10	Hr	25	250	10	Hr	35	250	10	Hr	25	250	750
13	Compressor & Hose (150cm & Greater)	10	Hr	25	250	10	Hr	25	250	10	Hr	25	250	750
14	Pump & Hoses (0 to 300 gal/min)	40	Hr	0	0	40	Hr	0	0	40	Hr	0	8	6
15	Pump & Hoses (300 gal/min & Greater)	40	Hr	10	400	40	Hr	10	400	40	Hr	10	400	1,200
16														
OTAL BID				45 500 49.30				49.300	76.750			170		



Type text here

ATTACHMENT A: PROPOSAL FORM

BACKUP CONTRACTORS

for Routine Repairs, Emergency Repairs, and Minor Construction of the Water and Sewer Systems #2025-08

PF	ROF	POSE	ER'S	FL	JLI	_ L	E	G	AI	LP	A	M	F:
----	-----	------	------	----	-----	-----	---	---	----	----	---	---	----

A-Z Services LLC

Pursuant to and in full compliance with the RFP, the undersigned certifies this proposal is submitted without collusion and all responses are true and accurate. If awarded this proposal, it is agreed this forms a contractual obligation to provide services at fees specified in this Proposal Form, subject to and in accordance with all instructions, conditions, requirements contained in the documents, including addenda, which are made part of this proposal.

Pricing:

*Must complete attached line-item bid spreadsheet and enter total proposal figures from each column below.

A.	Routine Repairs and Minor Construction Total:	\$_	46,700.00	/hr
B.	Emergency Repairs Total:	\$_	57,350.00	/hr
C.	Emergency Repairs Overtime Total:	\$	86,800.00	/hr

<u>NOTE:</u> This document, in order to be considered a valid proposal, must be signed by a principal officer or owner of the business entity that is submitting the proposal. Such signature constitutes the proposer's representations that is has read, understood and fully accepted each and every provision of each document compromising the RFP, unless an exception is described above.

Alison Rubino Owner	
Name and Title of Auth	norized Representative
Alison Rubino	
Signature of Represen	tative, Duly Authorized
12/3/24	
	Date
860-785-8802	
	Phone # and Fax #

Town of Berlin Water Control Commission

(Bid Sheet For)

Emergency Repairs & Minor Construction

Contractor

A-Z Services LLC

Bid No:

2025-08

January 1, 2025 to Period: December 31, 2026

				A				В				С	·	D A+B+
				ine Repair or Constru			Emergency Repairs Overtime Hours				C			
		Qty	Unit	Unit Price	Total	Qty	Unit	Unit Price	Total	Qty	Unit	Unit Price	Total	
1	Superintendent	40	_ Hr	110.00	4400.00	40	Hr	145.00	5800.00	40	Hr	185.00	7400.00	17,600.00
2	Labor	160	Hr	50.00	8000.00	160	Hr	75.00	12000.00	160	Hr	125.00	20000.00	40,000.00
3	Backhoe & Operator (0 to 3/8 YD)	20	Hr	140.00	2800.00	20	Hr	160.00	3200.00	20	Hr	245.00	4900.00	10,900.00
4	Backhoe & Operator (5/8 to 1/2 YD)	20	Hr	160.00	3200.00	20	Hr	170.00	3400.00	20	Hr	265.00	5300.00	11,900.00
5	Backhoe & Operator (3/4 & Larger)	20	Hr	160.00	3200.00	20	Hr	180.00	3600.00	20	Hr	265.00	5300.00	12,100.00
6	Loader & Operator (0 to 2 YD)	20	Hr	125.00	2500.00	20	Hr	125.00	2500.00	20	Hr	200.00	4000.00	9,000.00
	Loader & Operator (2YD& Larger)	20	Hr	125.00	2500.00	20	Hr	125.00	2500.00	20	Hr	200.00	4,000,00	9,000.00
8	Truck & Operator (6 Wheel)	80	Hr	100.00	8000.00	80	Hr	125.00	10000.00	80	Hr	200.00	16000.00	34,000.00
9	Truck & Operator (10 Wheel)	80	Hr	100.00	8000.00	80	Hr	125.00	10000.00	80	Hr	190.00	15200.00	33,200.00
10	Truck & Operator (Trailer Truck)	10	Hr	100.00	1000.00	10	Hr	125.00	1250.00	10	Hr	160.00	1600.00	3850.00
11	Pickup Truck	40	Hr	50.00	2000.00	40	Hr	50.00	2000.00	40	Hr	50.00	2000.00	6000.00
12	Compressor & Hose (0 to 150cm)	10	Hr	25.00	250.00	10	Hr	25.00	250.00	10	Hr	25.00	250.00	750.00
13	Compressor & Hose (150cm & Greater)	10	Hr	25.00	250.00	10	Hr	25.00	250.00	10	Hr	25.00	250.00	750.00
14	Pump & Hoses (0 to 300 gal/min)	40	Hr	0	0	40	Hr	0	0	40	Hr	0	0	0
15	Pump & Hoses (300 gal/min & Greater)	40	Hr	15.00	600.00	40	Hr	15.00	600.00	40	Hr	15.00	600.00	1800.00
16							- ' ''	10.00	000.00	70	111	15.00	000.00	1000.00
								 -	 			 		
TOTAL I	TAL BID				46,700.00				57,350.00			86.800.00	190,850.0	



ATTACHMENT A: PROPOSAL FORM

BACKUP CONTRACTORS

for Routine Repairs, Emergency Repairs, and Minor Construction of the Water and Sewer Systems #2025-08

PROPOSER'S FULL LEGAL NAME:	exter Car	truchin Comp	einl
Pursuant to and in full compliance with the RFP, the without collusion and all responses are true and accontractual obligation to provide services at fees accordance with all instructions, conditions, require which are made part of this proposal.	ccurate. If awarded this specified in this Propo	s proposal, it is agreed this osal Form, subject to and in	forms
Pricing:			
*Must complete attached line-item bid s figures from each column below.	spreadsheet and o	enter total proposal	
A. Routine Repairs and Minor Cons	truction Total:	\$_51,960.00	_/hr
B. Emergency Repairs Total:		\$ <u>51,960.00</u>	_/hr
C. Emergency Repairs Overtime To	tal:	\$ 69,460.00	_/hr
NOTE: This document, in order to be consider officer or owner of the business entity that is so the proposer's representations that is has reach provision of each document compromising the	Submitting the proposed, understood and full RFP, unless an exception of the Name and Title of Signature of Representations.	sal. Such signature cons illy accepted each and e	titutes very ve.
		, , , , , ,	Date
	860-342-38	80 860-342-2 Phone # and	

Town of Berlin

51

(Bid Sheet For)

Emergency Repairs & Minor Construction

Contractor Hubert E. Butler Construction Company LLC

Bid No:

Bid No:

202508

January 1, 2025- December 31, 20262026

				A				В				С		D	
			Routi	ne Repairs			Emerger	ncy Repairs			Emerge	ency Repairs	i	A+B+	۱ ۲
				-				.og .topuno		1	_		•	С	j
		<i>F</i>	and Mino	r Construct	on				Overtime Hours				Total		
		Qty	Unit	Unit Price	Total	Qty	Unit	Unit Price	Total	Qty	Unit	Unit Price	Total		}
1	Superintendent	40	Hr	\$ 85.00	\$ 3,400.00	40	Hr	\$ 85.00	\$ 3,400.00	40	Hr	\$ 127.00	\$ 5,080.00	\$ 11,880	0.00
2	Labor	_ 160	Hr	\$ 78.00	\$ 12,480.00	160	Hr	\$ 78.00	\$ 12,480.00	160	Hr	\$ 117.00	\$ 18,720.00	\$ 43,680	0.00
3	Backhoe & Operator (0 to 3/8 YD)	20	Hr	\$ 152.00	\$ 3,040.00	20	Hr	\$ 152.00	\$ 3,040.00	20	Hr	\$ 228.00	\$ 4,560.00	\$ 10,640	0.00
4	Backhoe & Operator (5/8 to 1/2 YD)	20	Hr	\$ 158.00	\$ 3,160.00	20	Hr	\$ 158.00	\$ 3,160.00	20	Hr	\$ 237.00	\$ 4,740.00	\$ 11,060	0.00
5	Backhoe & Operator (3/4 & Larger)	20	Hr	\$ 160.00	\$ 3,200.00	20	Нг	\$ 160.00	\$ 3,200.00	20	Нг	\$ 178.00	\$ 3,560.00	\$ 9,960	0.00
6	Loader & Operator (0 to 2 YD)	20	Hr	\$ 140.00	\$ 2,800.00	20	Hr	\$ 140.00	\$ 2,800.00	20	Hr	\$ 170.00	\$ 3,400.00	\$ 9,000	0.00
7	Loader & Operator (2YD& Larger)	20	Hr	\$ 145.00	\$ 2,900.00	20	Hr	\$ 145.00	\$ 2,900.00	20	Hr	\$ 174.00	\$ 3,480.00	\$ 9,280	0.00
8	Truck & Operator (6 Wheel)	80	Hr	\$ 96.00	\$ 7,680.00	80	Hr	\$ 96.00	\$ 7,680.00	80	Hr	\$ 126.00	\$ 10,080.00	\$ 25,440	0.00
9	Truck & Operator (10 Wheel)	80	Hr	\$ 102.00	\$ 8,160.00	80	Hr	\$ 102.00	\$ 8,160.00	80	Hr	\$ 132.00	\$ 10,560.00	\$ 26,880	0.00
10	Truck & Operator (Trailer Truck)	10	Hr	\$ 132.00	\$ 1,320.00	10	Hr	\$ 132.00	\$ 1,320.00	10	Hr	\$ 162.00	\$ 1,620.00	\$ 4,260	0.00
11	Pickup Truck	40	Hr	\$ 22.00	\$ 880.00	40	Hr	\$ 22.00	\$ 880.00	40	Hr	\$ 18.00	\$ 720.00	\$ 2,480	0.00
12	Compressor & Hose (0 to 150cm)	10	Hr	\$ 27.00	\$ 270.00	10	Hr	\$ 27.00	\$ 270.00	10	Hr	\$ 27.00	\$ 270.00	\$ 810	0.00
13	Compressor & Hose (150cm & Greater)	10	Hr	\$ 27.00	\$ 270.00	10	Hr	\$ 27.00	\$ 270.00	10	Нг	\$ 27.00	\$ 270.00	\$ 810	0.00
14	Pump & Hoses (0 to 300 gal/min)	40	Hr	\$ 30.00	\$ 1,200.00	40	Hr	\$ 30.00	\$ 1,200.00	40	Hr	\$ 30.00	\$ 1,200.00	\$ 3,600	0.00
15	Pump & Hoses (300 gal/min & Greater)	40	Hr	\$ 30.00	\$ 1,200.00	40	Hr	\$ 30.00	\$ 1,200.00	40	Hr	\$ 30.00	\$ 1,200.00	\$ 3,600	0.00
16															\neg
TOTAL BI	TAL BID \$ 5		\$ 51,960.00				\$ 51,960.00				\$ 69,460.00	\$ 173,380	00.0		



ATTACHMENT A: PROPOSAL FORM

BACKUP CONTRACTORS

for Routine Repairs, Emergency Repairs, and Minor Construction of the Water and Sewer Systems #2025-08

PROPOSER'S FULL LEGAL NAME:	Dura co	instruct	NO
Pursuant to and in full compliance with the RFP, th without collusion and all responses are true and ac a contractual obligation to provide services at fees accordance with all instructions, conditions, require which are made part of this proposal.	curate. If awarded to specified in this Pro	his proposal, it is posal Form, sub	s agreed this forms bject to and in
Pricing:			
*Must complete attached line-item bid s figures from each column below.	spreadsheet and	d enter total _l	proposal
A. Routine Repairs and Minor Cons	truction Total:	\$ 64,7	/hr
B. Emergency Repairs Total:		\$ 72,4	/hr
C. Emergency Repairs Overtime To	tal:	\$ 90.3	/hr
NOTE: This document, in order to be consider officer or owner of the business entity that is s the proposer's representations that is has reac provision of each document compromising the	ubmitting the prop d, understood and	osal. Such sig fully accepted	nature constitutes each and every
	CHARLES F Name and Title		MRm, DKM d Representative
	Charl 1	Paeren	•
	DEC	4 202	4 Date
	860 27	9-3854	5410

Phone # and Fax #

Town of Berlin **Water Control Commission**

(Bid Sheet For) Emergency Repairs & Minor Construction

Contractor	Bid No:	2025-08	Period:	January 1, 2025 to December 31, 2026

	.*			A ne Repairs r Construc			B C Emergency Repairs Overtime Hours				D A+B+ C Total			
		1	lia mino	Unit			T	Unit				Unit		1,544
		Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Price	Total	
1	Superintendent	40	Hr	110	4400	40	Hr	125	5000	40	Hr	150	6000	15400
2	Labor	160	Hr	85	13600	160	Hr	100	16000	160	Hr	150	24000	3600
3	Backhoe & Operator (0 to 3/8 YD)	20	Hr	150	3000	20	Hr	200	4000	20	Hr	200	4000	11000
4	Backhoe & Operator (5/8 to 1/2 YD)	20	Hr	175	3500	20	Hr	225	4500	20	Hr	225	4500	12500
5	Backhoe & Operator (3/4 & Larger)	20	Hr	200	4000	20	Hr	7 25	4500	20	Hr	250	5000	13500
6	Loader & Operator (0 to 2 YD)	20	Hr	125	2500	20	Hr	150	3000	20	Hr	250	5000	10 500
7	Loader & Operator (2YD& Larger)	20	Hr	175	3500	20	Hr	200	4000	20	Hr	225	4500	12000
8	Truck & Operator (6 Wheel)	80	Hr	120	9600	80	Hr	150	12000	80	Hr	170	43600	35200
9	Truck & Operator (10 Wheel)	80	Hr	150	12000	80	Hr	125	10,000	80	Hr	150	12000	34000
10	Truck & Operator (Trailer Truck)	10	Hr	200	2000	10	Hr	160	1600	10	Hr	200	2000	5600
11	Pickup Truck	40	Hr	75	3000	40	Hr	100	4000	40	Hr	125	5000	12000
12	Compressor & Hose (0 to 150cm)	10	Hr	50	500	10	Hr	60	600	10	Hr	75	750	1850
13	Compressor & Hose (150cm & Greater)	10	Hr	50	500	10	Hr	60	600	10	Hr	75	750	1850
14	Pump & Hoses (0 to 300 gal/min)	40	Hr	25	1000	40	Hr	25	1000	40	Hr	30	1200	3200
15	Pump & Hoses (300 gal/min & Greater)	40	Hr	40	1600	40	Hr	40	1600	40	Hr	50	2060	52.00
16														
OTAL	RID				64700				72400	r		£	90300	227.40



ATTACHMENT A: PROPOSAL FORM

BACKUP CONTRACTORS

for Routine Repairs, Emergency Repairs, and Minor Construction of the Water and Sewer Systems #2025-08

PROPOSER'S FULL LEGAL NAME:	5taxx	Construction	Services	LLC
-----------------------------	-------	--------------	----------	-----

Pursuant to and in full compliance with the RFP, the undersigned certifies this proposal is submitted without collusion and all responses are true and accurate. If awarded this proposal, it is agreed this forms a contractual obligation to provide services at fees specified in this Proposal Form, subject to and in accordance with all instructions, conditions, requirements contained in the documents, including addenda, which are made part of this proposal.

Pricing:

*Must complete attached line-item bid spreadsheet and enter total proposal figures from each column below.

A.	Routine Repairs and Minor Construction Total:	\$_	99,000	/hr
B.	Emergency Repairs Total:	\$_	117,500	/hr
C.	Emergency Repairs Overtime Total:	\$_	155,000	/hr

<u>NOTE:</u> This document, in order to be considered a valid proposal, must be signed by a principal officer or owner of the business entity that is submitting the proposal. Such signature constitutes the proposer's representations that is has read, understood and fully accepted each and every provision of each document compromising the RFP, unless an exception is described above.

<u>Jennie Scofield</u> , Owner Name and Title of Authorized Representative
Name and Title of Authorized Representative
Signature of Representative, Duly Authorized
Signature of Representative, Duly Authorized
12/3/24
Date
(860) 797-1136
Phone # and Fax #

Town of Berlin Water Control Commission

(Bid Sheet For)

Emergency Repairs & Minor Construction

					January 1, 2025 to
Contractor	Staxx Construction Services LLC	Bid No:	2025-08	Period:	December 31, 2026
					`

-				A		В				С				D A+B+
		A		ne Repairs or Construc		Emergency Repairs			Emergency Repairs Overtime Hours			'S	C Total	
		Qty	Unit	Unit Price	Total	Qty	Unit	Unit Price	Total	Qty	Unit	Unit Price	Total	
1	Superintendent	40	Hr	#200	8,000	40	Hr	# 225	9,000	40	Hr	#300	12,000	29,000
2	Labor	160	Hr	# 200	32,000	160	Hr	#225		160	Hr	#300	48,000	116,000
3	Backhoe & Operator (0 to 3/8 YD)	20	Hr	\$250	5,000	20	Hr	#275	5,500	20	Hr	# 325	6.500	17.000
4	Backhoe & Operator (5/8 to 1/2 YD)	20	Hr	# 250	5,000	20	Hr	#275	5,500	20	Hr	#325	6,500	17,000
5	Backhoe & Operator (3/4 & Larger)	20	Hr	#250	5,000	20	Hr	#275	5,500	20	Hr	#325	6,500	17,000
6	Loader & Operator (0 to 2 YD)	20	Hr	# 200	4,000	20	Hr	# 250	5,000	20	Hr	#300	6,000	15,000
7	Loader & Operator (2YD& Larger)	20	H	#200	4,000	20	Hr	\$260	5,000	20	Hr	#300	6,000	15,000
8	Truck & Operator (6 Wheel)	80	Hr	#125	10,000	80	Hr	#150	12,000	80	Ŧ	#225	18,000	40,000
9	Truck & Operator (10 Wheel)	80	Hr	#125	10,000	80	Hr	#175	14,000	80	Hr	#225	18,000	42,000
10	Truck & Operator (Trailer Truck)	10	Hr	# 200	2,000	10	Hr	#250	2,500	10	Hr	#300	3,000	7,500
11	Pickup Truck	40	Hr	\$100	4,000	40	Hr	#125	5,000	40	Hr	#175	7,000	16,000
12	Compressor & Hose (0 to 150cm)	10	Hr	#100	1,000	10	Hr	#125	1,250	10	Hr	#175	1,750	4,000
13	Compressor & Hose (150cm & Greater)	10	Hr	#100	1,000	10	Hr	\$125	1,250	10	Hr	#175	1,750	4,000
14	Pump & Hoses (0 to 300 gal/min)	40	Hr	\$100	4,000	40	Hr	#125	5,000	40	Hr	#175	7,000	16,000
15	Pump & Hoses (300 gal/min & Greater)	40	Hr	\$ 100	4,000	40	Hr	#125	5,000	40	Hr	#175	7,000	16,000
16	VAC Truck w/ Jetter	8 min	H٢	#350		8min	Hr	#375		8 min	H	#400		
	<u> </u>							<u> </u>						
TOTAL	BID 99,000 117,500			155,000#	371,500									

L& hour minimum



ATTACHMENT A: PROPOSAL FORM

BACKUP CONTRACTORS

for Routine Repairs, Emergency Repairs, and Minor Construction of the Water and Sewer Systems #2025-08

PROPOSER'S FULL LEGAL NAME:	tal Excav	ation, LLC
Pursuant to and in full compliance with the RFP, the without collusion and all responses are true and acc a contractual obligation to provide services at fees s accordance with all instructions, conditions, requirer which are made part of this proposal.	urate. If awarded this pecified in this Propo	s proposal, it is agreed this forms osal Form, subject to and in
Pricing:		
*Must complete attached line-item bid sp figures from each column below.	oreadsheet and (enter total proposal
A. Routine Repairs and Minor Constr	uction Total:	\$_43000/hr
B. Emergency Repairs Total:		\$ 47000 /hr
C. Emergency Repairs Overtime Total	al:	\$ 73250 /hr
NOTE: This document, in order to be considered officer or owner of the business entity that is suffice the proposer's representations that is has read provision of each document compromising the	bmitting the propose understood and fu	sal. Such signature constitutes ally accepted each and every
	Mike	Cobuzzi
	Name and Title o	f Authorized Representative
	11/11/1	Whin
	-	resentative, Duly Authorized
		- 2 - 2 7 Date
	9/1	717-17-90

Phone # and Fax #

Town of Berlin

Water Control Commission (Bid Sheet For) Emergency Repairs & Minor Construction

Contractor	Total	Excavation	,2LC	Bid No:	2025-08	Period:	January 1, 2025 to December 31, 2026
			/				

				Α		В				С				D A+B+
			Routine Repairs And Minor Construction				Emergency Repairs				Emergency Repairs Overtime Hours			
		-	ulu millo	Unit		Unit				Overt	<u> </u>	Total		
		Qty	Unit	Price	Total	Qty	Unit	Price	Total	Qty	Unit	Unit Price	Total	
1	Superintendent	40	Hr	90	3600	40	Hr	110	4400	40	Нг	150	6000	14000
2	Labor	160	Hr	50	8606	160	Hr	60	9660	160	Hr	100	16000	33,600
3	Backhoe & Operator (0 to 3/8 YD)	20	Hr	125	2500	20	Hr	135	2700	20	Hr	218	4200	9400
4	Backhoe & Operator (5/8 to 1/2 YD)	20	Hr	135	2.700	20	Hr	145	2900	20	Hr	220	4400	10000
5	Backhoe & Operator (3/4 & Larger)	20	Hr	145	2900	20	Hr	155	3100	20	Hr	230	4600	10600
6	Loader & Operator (0 to 2 YD)	20	Hr	120	2400	20	Hr	120	2400	20	Hr	160	3200	8000
7	Loader & Operator (2YD& Larger)	20	Нг	120	2400	20	Hr	120	2400	20	Hr	160	3200	8000
8	Truck & Operator (6 Wheel)	80	Hr	95	7600	80	Нг	105	E400	80	Hr	17.5	14000	30.000
9	Truck & Operator (10 Wheel)	80	Нг	100	8000	80	Hr	100	8000	80	Hr	175	14000	30.000
10	Truck & Operator (Trailer Truck)	10	Hr	100	1000	10	Hr	100	1000	10	Hr	150	1500	3500
11	Pickup Truck	40	Hr	25	1000	40	Hr	25	1000	40	Hr	2.5	1000	3000
12	Compressor & Hose (0 to 150cm)	10	Hr	25	250	10	Hr	25	250	10	Hr	25	250	750
13	Compressor & Hose (150cm & Greater)	10	Нг	25	250	10	Hr	254	250	10	Hr	25	190	750
14	Pump & Hoses (0 to 300 gal/min)	40	Hr	6	200	40	Hr	5	200	40	Hr	5	250	650
15	Pump & Hoses (300 gal/min & Greater)	40	Hr	10	400	40	Hr	10	400	40	Hr	10	400	RO
16													ļ	
TOTAL		<u> </u>	1/2204				10000		<u> </u>		7176	11.277		
TOTAL BID					43200				47000				15450	16273